
L2(81).41 (mod 5)

blocks defect matrix

G : 1 1 5× 4
2 1 5× 4
3 1 5× 4
4 1 5× 4
5 0 3201 = χ4+, ϕ4+

6 0 3202 = χ8+, ϕ8+

7 0 3203 = χ12+, ϕ12+

8 0 3204 = χ16+, ϕ16+

9 0 3205 = χ20+, ϕ20+

10 1 5× 4
11 1 4× 2

2.G : 12 0 401 = χ44,0, ϕ28,0

13 0 402 = χ44,1, ϕ28,1

blocks defect matrix

14 0 403 = χ44,2, ϕ28,2

15 = 13 0 404 = χ44,3, ϕ28,3

16 0 405 = χ45,0, ϕ29,0

17 0 406 = χ45,1, ϕ29,1

18 = 17 0 407 = χ45,2, ϕ29,2

19 = 16 0 408 = χ45,3, ϕ29,3

20 0 3206 = χ46+, ϕ30+

21 0 3207 = χ50+, ϕ34+

22 0 3208 = χ54+, ϕ38+

23 0 3209 = χ58+, ϕ42+

24 0 32010 = χ62+, ϕ46+

25 1 5× 1

Block 1: ϕ1,0 ϕ1,2 ϕ24,1 ϕ24,3

11 = χ1,0 1 . . .
13 = χ1,2 . 1 . .

812 = χ24,1 . . 1 .
814 = χ24,3 . . . 1

1642 = χ26,1+ 1 1 1 1

ϕ1,0 = 11
ϕ1,2 = 13
ϕ24,1 = 812
ϕ24,3 = 814

Block 2: ϕ1,1 ϕ1,3 ϕ24,0 ϕ24,2

12 = χ1,1 1 . . .
14 = χ1,3 . 1 . .

811 = χ24,0 . . 1 .
813 = χ24,2 . . . 1

1641 = χ26,0+ 1 1 1 1

ϕ1,1 = 12
ϕ1,3 = 14
ϕ24,0 = 811
ϕ24,2 = 813

Block 3: ϕ2,0 ϕ2,2 ϕ3,1 ϕ3,3

411 = χ2,0 1 . . .
413 = χ2,2 . 1 . .
416 = χ3,1 . . 1 .
418 = χ3,3 . . . 1

1646 = χ30,1+ 1 1 1 1

ϕ2,0 = 411
ϕ2,2 = 413
ϕ3,1 = 416
ϕ3,3 = 418



Block 4: ϕ2,1 ϕ2,3 ϕ3,0 ϕ3,2

412 = χ2,1 1 . . .
414 = χ2,3 . 1 . .
415 = χ3,0 . . 1 .
417 = χ3,2 . . . 1

1645 = χ30,0+ 1 1 1 1

ϕ2,1 = 412
ϕ2,3 = 414
ϕ3,0 = 415
ϕ3,2 = 417

Block 10: ϕ25,0 ϕ25,1 ϕ25,2 ϕ25,3

821 = χ25,0 1 . . .
822 = χ25,1 . 1 . .
823 = χ25,2 . . 1 .
824 = χ25,3 . . . 1
3281 = χ32+ 1 1 1 1

ϕ25,0 = 821
ϕ25,1 = 822
ϕ25,2 = 823
ϕ25,3 = 824

Block 11: ϕ26,0+ ϕ26,1+

1643 = χ28,0+ 1 .
1644 = χ28,1+ . 1
3282 = χ36+ 1 1
3283 = χ40+ 1 1

ϕ26,0+ = 1641
ϕ26,1+ = 1642

Block 25: ϕ50+

3284 = χ66+ 1
3285 = χ70+ 1
3286 = χ74+ 1
3287 = χ78+ 1
3288 = χ82+ 1

ϕ50+ = 3281


